Subject : Mathematics
Grade : 6t

SET 1

thousand, four hundred and
ten will be read as:

Knowing Our The population of a country is
529 Numbers 12,28,000. Rounding off to
1 Mathematics nearest approximation, the A
population would be
11286 .
Answer Option
12 lakh 13 lakh 11 lakh 10 lakh
Knowing Our In the International system of
12 Numbers numbers, ten lakhs is read as
2 Mathematics one million. In this system, C
6812 two crores, fifteen lakhs, nine

Answer Option

Two million, one
hundred and fifty
nine thousand, four
hundred and ten.

Twenty one million, fifty
nine thousand, four
hundred and ten.

Twenty one million,
five hundred and nine
thousand, four
hundred and ten.

Two hundred and fifty
nine thousand, four
hundred and ten.




Knowing Our Rahul's electricity bill was ELECTRICITY BILL
1.2 Numbers due on December 7 2001, e | Namendhdins | Mg | 00w | Laioanc
Mathematics but he paid it on December 1235% Rahd Das 2112001 | 22112001 | 7-12.2001
6822 11, 2001.What is the total e
amount that he will have to e
pay? Oid Reading New Reading Units Used Amount
72541 77423 4482 20183.00
Amount Payable | Amcent Payable
Before Last Date after Last Date”
20,165.00 20.219.00
* Indudes Fne for Lale Payment Rs. 50~
Answer Option
Rs. 50 Rs. 20,169 Rs. 20,219 Rs. 72,941
Knowing Our | A dealer of second hand No. Car Year of Price (Rs.)
1.2 Numbers cars buys two cars as per : Manufacture
Mathematics the following details: A 1. Maruti 800 1992 75,500
i ’ 2. Ambassador 1990 62,000
6824 buyer offers him Rs.

1,40,000 for the two cars.
What will be the dealer's
profit or loss?

Answer Oition

Rs. 7,500 profit

Rs. 7,500 loss

Rs. 2,500 profit

Rs. 2,500 loss




Knowing Our Which of the following is

1.2 Numbers closest in value to 10,000?
Mathematics B
6825
Answer Option
98 x 499 x 2 201 x 49 99,998 - 99 39x 399
Knowing Our Which is the largest 4-digit ‘I] @ @
1.2 Numbers odd number that can be made
Mathematics using four of the number cards D
6828 shown here? Remember - you

have to make the number
using only 4 cards.

Answer Option

9876 9867 8967 9871




Knowing Our

A customer purchases a new

1.2 Numbers T.V. set under an exchange
Mathematics scheme by giving his old T.V.
6833 set and paying Rs. 5,200 cash. A
If the actual price of the new
T.V.is Rs. 12,000 how much is
the old T.V. worth?
Answer Option
Rs. 6,800 Rs. 6,700 Rs. 7,800 Rs. 17,200
14 Knowing our How many hundreds should D
Mathematics | numbers be added to 99000 to get 1
7496 lakh?
Answer Option
999 100 10
14 Knowing our Which of these could be the B
Mathematics | humbers approximate length of a
7500 dupatta worn with a salwar

kameez?

Answer Option

22 cm 220 cm

22 m

220 m
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1.4 Knowing our If 7846, 7896 and 8802 are B
Mathematics | humbers ROUNDED to the nearest
7503 HUNDRED and then ADDED,
the answer will be
Answer Oition
24,400 24,500 24,544 | 24,550
11 14 Knowing our A table showing the details and MODEL FEATURES PRICE C
- . numbers features of various models of TV 1 ] e
Mathematics which a company manufactures. z é Ex 3
7505 Mr. Shastri wants to buy a TV and 5 5 23 '"E
a voltage stabilizer within a 5 E 2
budget of Rs. 15000.The features - o 2o
which he wants his TV to have A v v v v 15700
are a 'Full function remote' and
‘Stereo sound system'. . v v 74 séioe
A stabilizer costs Rs. 300.
Which model should he buy? ¢ v v v 14689
] / 12899

Answer Option

Model A Model B

Model C

Model D




Total

[EAF e
12 1.4 | X / \ EEER
Mathematics | Knowing our Y T
. . .o,
7507 numbers e ]\wo-. RSk R
: °. .. 500 'IOO..
..‘400 200... ... 400 200.:
-, 300 _- "« 300 _o°
LN o - s
This is the position of the What is the actual weight of the object
pointer of a weighing scale placed on the scale?
when there is no weight on it.
Answer Option
380¢g 400 g 420 g 450 g
13 14 Knowing our Some of the numbers are not Rohit bought the following items from the shop.
. numbers visible due to ink smudges. SNo.[ Item ‘Qty | Rate (Rs) | Amount (Rs)
Mathematics What is the total cost of all items ol Rl e 1650
7512 in the bill? e
2 Lazeer chips | T ga0
(Tomato)
3 | Nutly 2 940
Chocolale

Rs 26.40 | Rs 34.80

Answer Option

Rs 44.40

Rs 52.80




in a day?

14 1.4 Knowing our Rohit did not notice the poster | He bought the following items from the
Mathematics | humbers in the shop announcing a shop.
7513 special offer on Lazeez Chips. SNo.| ltem Qty | Rate (Rs) Amount (Rs)
ZYADA KHAO 1 |lazeezchips | 2 240 16.90
PATSE BACHAO!! (Wiasale)
Buy 3 or more packets of Lazeez 2 Lazesz chips | 1 £40
Chips(Tomata flavour) and get Ry (.50 (Townato)
off on every packe:!!!
Jaldi karo! Offer Valid till stocks last!! 3 | Ny 2 950
Chocolate
How much would he have to Totol
pay if all the packets of Lazeez
chips he had bought were
tomato flavoured?
Answer Option
Rs 41.40 | Rs 42.10 | Rs 42.90 | Rs 43.40
15 14 Knowing our A clock in our house loses a
Mathematics | numbers second every half minute.
7526 How many minutes will it lose

24

Answer Option

48

120 2880




